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1- For instance, under the main entry amicable, two nouns and an adverb are also listed. ‘for instance’
means ............
1) generally 2) for example 3) extensively 4) put emphasis
renees (2o @y (Jlie lgisy) for instance 15,5 Lo slo w0 348 Sy g el 9> «amicablen Lol (53959 125 1> Jbio ¢lgiss -)
ol
035 3B (8 03508 Wygo @y (W Jbo sl (¥ bogoc ()
Y aiu;S tasye ool Colw duwl
(aiwme «Jbo plgim» slio @ 93 ,o for exmple g for instance)
2- (source: iran arze web@) The books in the library are .......... According to subjects.( iranarze.ir)
1) classify 2) classifies 3) classified 4) classification
e EguB90 (Gab LS (glo LS -V
(3 adnb (& Ligah (0 sk adub (¥ O adb (¥ O (53 adiub )
M a8 iaude obal Cul gl
be Jwlwl » Jag=eo J=9 )loj 9 Cuwl be + past participle g0 @ Jogxo J=8 Uil 30 o Wi> Jeld Jopmo Moz )
was/were + past participle Jgg=o 63lw aiiiS > .pea 1> |, am/is/are + past participle Jgg=o 05bw Jl> )3 364 (0 (puasi
was/were + being + past Jog=o (5)laimwl aid3S 5 .@z,l> |, am/is/are + past participle Jogzo (5)0timl Jl> 55 @zl |
(2,15 1, participle
3- I've tried those tablets and they haven't done me any ................... .( iranarze.ir)
1) benefit 2) good 3) better 4) best
) a3 e el Cul fusl
Gl ) 43S Olowdgi @y azgs b 13 250 )15 @y plgs o el L 13 3,135 3929 Olas I eslatiwl (Sl Jsmbo > aSil ay azgi b
bl oo o
4- | like to visit other countries but I find the ..................... of travel is too high.( iranarze.ir)

1) money 2) cost 3) expenses 4) currency
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5- Mathematics, physics, chemistry and biology are all .............. , while painting is an art.( iranarze.ir)
1) scientist 2) sciences 3) scientific 4) scientifically
ol i SlES Lol 3 s 550D Ll G ) 9 owsd (S b (oL, -9
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6- {iranarze.ir} As.............. of our employees can afford cars of................. Own they all have to rely on
public transport. (iranarze.ir)

1) few/them 2) most/our 3) none/their 4) some /his

7- 1 don't imagine he wrote the speech...... but......did so Certainly made a good job of it. (iranarze.ir)

1) of his /somebody 2) themselves/whichever

3) for them /whomsoever 4) himself/whoever

8- (authorship: iranarze.ir) Do you really believe that the party program............... it now stands, is
democrats......... to influence the vote in our favor.( iranarze.ir)

1) since/also 2) as/ enough 3) such as /too 4) where / as well

9- Why were there no buses yesterday? Maybe it was the snow or they....... been on strike. (iranarze.ir)
1) must have 2) could not have 3) might have 4) can't have

Direction: Read the following passage carefully and answer the questions that follow:

Jesse Ownes was one of the world most famous track stars. The newspapers of his day called him "the
world's fastest human." This was because he could run faster and jump further than any other man of the
time. He was born in 1913. The son of a poor black family with six other brothers and sisters, the first
years of his life were very difficult. He was close to death many times during his youth, due to illness.
However, the care of his mother and father helped him to pull through each time. He started running and
training in school and while in college at Ohio State University he entered a national competition. During
this competition, he set four world records. In 1936, the Olympic Games took place in Germany. This was

the Germany of Hitler who did not believe that any race of people was better than the Germans. Jesse won
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the gold medal for each of the events he entered during the games and became one of the most popular
athletes in the world.

10- Jesse Ownes's ........... . (iranarze.ir)

1) was brought up in poverty

2) first competed in the Olympic Games

3) started to run Because his mother and father pulled him through

4) ran faster than anyone could jump

11- All students are expected to ........cccceuveeunennes their term project by the end of this month.( iranarze.ir)
1) survey 2) submit 3) sustain 4) suspect

12- (iran ar z e) When Mrs. Harris was promoted, she missed the day - to - day ................. with
customers.

1) involvement 2) announcement  3) improvement 4) retirement

Part B: Reading Comprehension

Direction: Read the following passage and select choice (1), (2), (3) or (4) that best answers each

question. Then mark your answer on your answer sheet.

If you think of the job’s robots could never do, you would probably put doctors and teachers at the top of
the list. It's easy to imagine robot cleaners and factory workers, but some jobs need human connection
and creativity. But are we underestimating what robots can do? In some cases, they already perform better
than doctors at diagnosing illness. Also, some patients might feel more comfortable sharing personal
information with a machine than a person. Could there be a place for robots in education after all?

British education expert Anthony Seldon so. And he even has a dare for the robot takeover the classroom:
2027. He predicts robots will read students' faces, movements and maybe even brain signals. Then they
will adapt the information to each student. It's not a popular opinion and its unlikely robots will ever have
empathy and the ability to really connect with humans like another human can.

One thing is certain. though. A robot teacher is better than no teacher at all. In some parts of the world,
there aren’t enough teachers and 9-16 percent of children under the age of 14 don't go to school. That
problem could be partly solved by robots because they can teach anywhere and won't get stressed or tired

or move somewhere for an easier, Higher-paid job.
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Those negative aspects of teaching are something everyone agrees on. Teachers all over the world are

leaving because it is difficult job and they feel overworked. Perhaps the question is not “Will robots replace
teachers” but “How can robots help teachers?” office workers can use software to do things like organize
and answer emails, arrange meeting and update calendars. Teachers waste a lot of time doing non-
teaching work. Including more than 11 hours a week marking homework.

13- According to the passage, which of the following statements may come true?( iranarze.ir)

1) Anthony Seldon will become a robot expert soon

2) Teachers will be assistants to robots in 2027.

3) it is highly probable that robots will really connect with humans like another human can.

4) There will be no need for teachers throughout the world by 2027.

Vocabulary

Direction: choose the number of the answer choice (1), (2), (3) or (4) that best completes the blank. Then

mark it on your answer sheet

14- the teacher told his. students that the books ................. from the library must be returned soon .
1) were borrowed 2) borrowing 3) borrowed 4) which borrowed

15- if my friend ..............cccueet a million dollars, he would certainly start his own business. (iranarze.ir)
1) would win 2) wins 3) won 4) has won

PART B: Reading Comprehension

Direction: choose the number of the answer choice (1), (2), (3) or (4) that best completes the blank. Then

mark it on your answer sheet

Passage 1:

Today almost all cars require fuel and many haters would not work without oil. In short more than 85
percent of the global energy consumption is based on fossil fuel sources:i:e. oil cgas and coal. But to get
to these valuable resources of our plane, it is necessary to drill deeper and deeper- no easy enterprise.
Deep drilling technology (called “downhole drilling” in the field of oil and gas exploration) makes it possible
to recover oil and gas from depth of more than 2500 m. By combining downhole drilling with directional
drilling (dynamic position of a deep drill), previously unreachable oil reserves can be opened up, with

drilling depth if currently approximately 5000 m and drill lengths of up to 11000 m.

(TIPS eI TORV TSR R P P Sl 3 2Y Juad




ALyl

Oil is a limited resource, but is an integral part of our modern way of living. Therefore, in many regions of
the world, the black gold is recovered from deep inside the earth. In the USA, Russia, England, China and
the Middle East, many oil and gas recovery plants, both onshore and offshore, produce several thousand
barrels of petroleum or natural gas every day. Until February 2008, the longest drill hole for oil recovery
was 11680 m long. It was drilled in 2007 in the course of opening up the Chayvo oil field offshore from
the north -eastern coast of Sakhalin (Russia). This oil field is a approximately 2500 m deep, but it is several
kilometers from the coast. These oil reserves are opened up mainly by means of directional from onshore.
16- Which drilling technologies have been mentioned in the passage? (iranarze.ir)

1) Downhole drilling and rotary drilling

2) Circulation drilling and directional drilling

3) Downhole drilling and directional drilling

4) Rotary drilling and circulation drilling

17- - author iran arze online shop - Which of the following countries has NOT been mentioned in the
passage? (iranarze.ir)

1) Venezuela 2) Russia 3) Russia 4) England

18- (iranarze) The word "it" in paragraph 2 refers to ... (iranarze.ir)

1) the Chayvo oil field 2) the coast

3) oil recovery 4) the course

19- Our class is ...c...cccueeveueee.... tWelve boys and eight girls.( iranarze.ir)
1) provided with 2) composed of 3) concerned with  4) full of
Cloze Test

The atmosphere keeps part of the sun’s light from reaching the earth. Plants and animals could not ... (56)
... on the earth without some light and ... (5) ... from the sun, but if all of the sun’s light ... (58) ... the earth,
they would kill living things. ... (59) ..., the earth’s covering of air prevents sudden great changes in ... (60)
... such changes would be dangerous for living things.

20- ( iranarze.ir)

1) breathe 2) keep 3) live 4) work
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21- [iranarze] One important Indicator of quality of life is the proportion of ...... one has to spend in order
to buy food.( iranarze.ir)

1) authority 2) precision 3) priority 4) income

22- - author iran arze online shop - This method of construction is very convenient because it enables the
builder to ............. Constructive units of very small dimensions, such as bricks.( iranarze.ir)

1) diminish 2) predict 3) utilize 4) enforce

Part B: reading comprehension

Directions: read the following passage and select the choice (1), (2), (3), or (4) that best answers each
question. Then mark your answer on your answer sheet.

Attending a good pre-school and primary school has more impact on children's academic progress than
their gender or family background. The Institute of Education study found that the quality of teaching
children receive is more important than their gender or family income. A high quality pre-school followed
by an academically effective primary school gives children's development a significant boost. But children
also need a stimulating early years home- learning environment to build upon.

The effective Provision of Pre-School Education project tracked almost 3,000 childern from the time they
started pre-school until age 11. While all children benefit from a good pre-school, high quality is
particularly important for children with special educational needs, those with mothers with low
qualifications, or children who come from unstimulating homes.

At primary school, the quality of teaching affects both children's social behavior and intellectual
development. The researcher found much variation in the quality of teaching at age 10 and said this had
a more powerful impact on children's academic progress than their gender or whether or not they receive
free school meals.

Children who attend a more academically effective primary school show better attainment and progress
in key stage 2 (ages 7 to 11) than children with similar characteristics who attend a less effective school.
But home matters too. A stimulating home learning environment at age 3 to 4 is linked to long-term gains
in children's development and has an equal impact to the mother's qualification level

23- According to the passage, a high-quality primary school education is particularly important for all of

the following children EXCEPT those ................ (iranarze.ir)
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1) with special educational needs

2) with inappropriate social behavior

3) who come from unstimulating homes

4) whose mothers have low qualifications

Part B: Reading Comprehension:

Directions: Read the following passage and select the choice (1),(2),)3). Or (4) that best answers each
question. Then mark your answer on your answer sheet.( iranarze.ir)

London is a famous and historic city. It is the capital 0777f England in the United Kingdom The city is
quite popular for international tourism because London is home to one of the oldest standing monarchies
in the western hemisphere. Helen and Nancy recently traveled to London. They were very excited for their
tripe because this was their first journey overseas from Canada.

Among the popular sights that Helen and Nancy visited are Big Ben the London Eye and Buckingham
Palace. Big Ben is one of London’s most famous monuments It is a large cluck tower located at the
northern end of Westminster Palace. The clock tower is 96 meters tall Unfortunately, Helen and Nancy
were only able to view the tower from the outside. They learned that the towers interior is undergoing
renovations until 2022.

Fortunately, The London Eye, the city’s famous ferris wheel, was open to the public The London Eye is
situated along the southern shores of the Thames River. This attraction stands 135 meters high. It is One
If London’s most well-known spots for gaining aerial views of the city. Each capsule of the Ferris wheel
can hold up to 25 passengers. When their capsule stopped at the top of the ferris wheel the women took
spectacular panoramic photographs of the beautiful city scape below.

24- How tall is the clock tower? (iranarze.ir)

1) 202 meters 2) 135meters 3) 96 meters 4) 25 meters

25- The words spots in paragraph 3 is similar in meaning to ......(iranarze.ir)

1) views 2) locations 3) buildings 4) attractions
26- I've listened to your argument. It's neither here nor there. In other words, it's quite ........... . (iranarze.ir)
1) memorable 2) irrelevant 3) scornful 4) enormous

(\
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27- .......... out of school as a teenager. Maurice decided later in life .......... up his education where he had

left off. (iranarze.ir)

1) being dropped/took 2) having dropped/to take
3) to drop/taking 4) dropped/being taken
28- .......... of the countries of Western Europe used to have its own currency, but now .......... of them use

the Euro. (iranarze.ir)

1) either/any 2) all/whole 3) each/most 4) whole/every

29- Snakes hears things by picking up the vibrations of sound waves with their .................. flicking
tongues. (iranarze.ir)

1) rationally 2) consequently 3) mutually 4) constantly

Part C: READING COMPREHENSION

DIRECTIONS: read the following passage and select the choice (1), (2), (3) or (4) that best answers each

question. then mark the correct choice on your answer sheet

Medical equipment prior to and even during the scientific revolution was based on classical Greek and
roman theories about science, which were not based on science at all, but on philosophy and
superstition, human health was viewed as a balance of 4 internal humors in the body. the 4 humor-
blood, yellow bile, black bile, and phlegm- were analogous to the 4 elements of the universe to classical
thinkers: fire, air, water, and earth. Aliments, both physical and mental, were caused by an imbalanced of
humors. The ideal mind and body balanced all four humors, gracefully. To heal, doctors prescribed foods
or procedures which would balance the fluids in the body. Some of the prescriptions seem to make
sense. fevers, for example were treated with cold, dry temperature to combat the hot, wet
overstimulation in the body. but when that failed, often the next step was bloodletting. unnecessary
purging and enemas were also common cures, which have helped some people, but also might have
caused more problems than they solved. George Washington’s death has recently been attributed, not to
the strep throat he probably had as he died, but to the bloodletting and mercury enema given to him cure
it. Not-quite-scientific medical cure are still available and used by many even today (prepared by
iranarze.ir).

30- which of the following statements is true, according to the passage? (iranarze.ir)
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1) classical Greek and Roman theories about science were mostly based on philosophy.

2) The Greeks believed in only 3 of the 4 internal humors in the body .

3) Medical equipment before and even during the scientific revolution was based on scientific experiment.
4) The Romans were more in favor of the 4 elements of the universe than the 4 internal humors

31 -Unfortunately, the new book failed to satisfy the.......... Of the readers. (iranarze.ir)

1) offers 2) masterpiece 3) affairs 4) expectation

Red the paragraph carefully and answer the questions.

Even professional writers do not write everything perfectly the first time. They have to revise their work.
When you revise your writing, you look for ways to change it in a way to make it better. You check your
spelling and you make sure that you have used perfect periods, and other punctuation marks in the best
way. You look for words that can be replaced or traded for different, more exciting words. You make sure

that your words help reader get a picture in his mind when he reads them. Revising your writing is

important? That you make can turn boring words into exciting words, and can make your ideas ?
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32- The passage is mainly about how to ............... (iranarze.ir)
1) be a professional writer 2) trade different things
3) revise your writing 4) get a written picture
33- The underline word treated means .................. (iranarze.ir)
1) exchanged 2) examined 3) cleaned up 4) looked after
34- Bargaining is a ritual .......... for centuries. (iranarze.ir)
1) exists 2) has existed

1)
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3) existed 4) have existed

Reading

Direction: Read the passage and choose the best answer to each question:

if you are like most people, your intelligence differs from season to season. You are probably a lot sharper
in the spring than you are at any other time of the year. A scientist believes climate and temperature have
a certain effect on our mental abilities. He found out that cool weather is much more helpful for better
thinking than is summer heat. This does not mean that all people are less intelligent in the summer than
they are during the rest of the year. Spring appears to be the best period of the year for thinking. One
reason may be that in the spring, peoples’ mental abilities are influenced by the same factors that all
nature.

35- Which statement is correct about spring? (iranarze.ir)

1) It has no affect peoples’ mental abilities.

2) It affects some peoples’ mental abilities negatively.

3) It makes all peoples’ less intelligent in comparison to other seasons.

4) It's the best period of the year for thinking.

36- [iranarze] According to the passage .......( iranarze.ir)

1) Your intelligence is not the same all through the year.

2) Summer heal has no effect on your intelligence.

3) Most people think better in summer than in spring.

4) Spring is most peoples’ favorite season.

37- Boston is in.................... ( iranarze.ir)

1) Melbourne 2) South America

3) North America 4) America

38- If you make one more mistake like this, you................. your job. (iranarze.ir)

1) would lose 2) will lose

3) would have lost 4) will be losing

39- | opened the door and walked in so ...................... that nobody noticed my getting in. (iranarze.ir)
1) actually 2) patiently 3) silently 4) ignorantly

VY
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40- My classmates and i try to .......c.cccceuveeene. a close friendship that can last for years in the future.
1) allow 2) educate 3) build 4) value

41- Afteralong .....ccoeeunveunnnnns they finally decided to move to another city.( iranarze.ir)

1) possibility 2) preference

3) discussion 4) observation

42- In the future, you may only ...... to buy one book. (iranarze.ir)

1) deed 2) Read 3) need 4) lead

43- Books don’t need a power source ...... (iranarze.ir)

1) too 2) Also 3) either 4) neither
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